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l. egitlikte @ igleminin gbrevi belirlanmigtir. Buna
giire, Il. egitiikte soru isaretinin yerine asagidaki- [
lerden hangisl gelmelidir? | ’
In equation |, the operation of @ is established. | Yukandaki ¢atpma ve toplgma tablolannda a, b
According to this operation, which of the following } ve ¢ harfieri poAitif birer sayinin yerine kullaniimigtir.

does the question mark stand for in equation (17 Buna gore, a kaglx

In thi multi
A-5 B)-1 Q7 D18 E)19 lettess a, b &
Accprdingly, :

A1 B)2

ication and addition tables above, the
¢ each stand for a positive number.
at is tbg value of a?

p}’fa Dj4  E)5

2‘

a8, b ve ¢ harfleri

pnzltigbirar sayirm yerine kullanilmistir, Buna

gore, a kagtir?
, the letters a, b and ¢ |

in the addition table aboy
each stand fw a positive nimber. Accordingly, what
is thg\vame of f
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4, -5, anrulardatverilen pargalar kullanilarak ! | 6. = 8. sorulan drnekie verilen iliafk[';e giire
olugturulan gekli bulunuz. | cevaplayiniz. 4
In questions 4 - 5, find the figure using given | : | In questions 6 - 8§, find the correct answer in
fragments, . | accordance with tho rolatioriship established in

.| the example below,

4

| ORNEK

EXAMPLE
(

4
gekil P ekil Il
gure | igure i

s N ve P harfleri !. gekildeki gibi birbirine

tir. I. gekildeki bajlant sayilar va bir-
3lanan harfler defismemek koguluyla
1. gekKil elde edilmisgtir.

< Letters K, L, M, N and P are linked as in Figure 1.
‘Figure 1l has been constructed so as not to change
which letters are linked to which, and the number of
links made with sach letter, in Figure 1.
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s\

*=7 y=?

Il. sekilde x ve ¥ nin yerine gelmesi gereken harflari |
bulunuz, L i \
Find the letters that correspond to x and v in Figure I, In. f ekilde x ve y erine gelmesi gereken harfleri

bulun

Find the letters that correspond to x and vy in Figure 1.

x oy y

/

A) A B ALY M /N

C) D c / | T P

b ek & o TN

y /

E) C A Y . B N A

7.

It ?ekiide X ye ¥ nin yerine g i i
bulunuz.
Find the Isiters that comaspond to x and v in Figure 1.

B P L
¢ R L
D) P M
B M K
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9. 10. sorularda, soru isaretinin yerine getirilmesi 11. - 14. sorularda, verilen gekil diziside sonlem
gereken sekli bulunuz. isaretinin yerine getlrilmesl gereken sekli
In questions 9 — 19, find the figure to replaca the B,

question mark. | | Inquestions 11 — 14, find the figure which the
question mark stands for in given figure ™

i | sequence. /

! /

My

]/ * f[ ) ZI/ ' ?i " _ | . / IV,

20 1 6

A) B)

C) B 1
Tm o \ S — ?

> | ¥
) .rz/'.l
L-- A/}E B) 2 C) 4
) + 7 D) 4 E) 0
4
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15.-16. sorulardaki {a.) say dlzisinde a =2, a =3, a=3
ve nzd igln a,= a,,- a,,. a_olarak verilmigtir

In questions 15.~16.(a number sequence is given as
a=2, a3, as2awnzd,a =8 ca 4 a,

' ="
18. a+a+a="

A B) 2 C) 4

D} 6 )8

16. a+a_+a _+a_=7

A)0 B4 D

"
7

-

D) 12 E) 1

by yos lovers

larelde edilmistir. Soru isaretiyle belirtile
sozcligiin hangi sayiyla gosterildijini bulunuz

17. ve 18. sorularda, . gruptaki sl?écﬂkler!i -
leribirer rakamta gisterilersk 1] gruptaki say

bers in group Il

In guestions 17 and 18, the

stand for the words in group |, When each letter
has been coded with a specific nu I. Find the
mumber which corresponds to the werlt indicatect

by the question mark-,\ Y
| f 1.z
\\\Hr) I

2434 4681 4147

17. L
BAC

BEREN . 2575 6595
AKAR 4
AGI K
CETE |
y r//'
B ACIK=7
)2434 B) 2575 C) 4147
o D) 4681 E) 6595
18. I il,
KASA] 1232 1289 7282
YAKA | J 1665 4212
KUTU
MA LAJ
KALE) &
MALA=?
A) 1232 B) 2787 C) 7282
D) 2787 E) 7828




19. ve 20. sorulan agafiidaki tabloya gire cevap-
layimiz.

Answer questions 19 and 20 in accordance with
the table given below.

rn|unm1-.~[:>
OiIim O X

mioolw|>o
[ |m o O] m

O D PEmom
_Un.mi-mﬂ

Tabloda A isteminin gbrevi belldenmigtir.

The cparation af A is established in the table
AAD=A

B
BAC=A

C

19. (AAB)A(CAD)=? &

NA BB CC DD EEN <
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Yukardaki ¢
pozltif birer say
gére, b kagyr?

each stand fo
ist lue of b
?4 Bi 5 Ci6
\
z'(
.//
y Vv
//..

My

ma tablosunda a ve b harfleri
yerine kullamilmigtir. Buna

ove, the letters 4 and b
ber, Accordingly, what

D)7 E)8



22.-24. sorulan agadidak? tabloya gore cevap-

layiruz.
Answar gquestions 22.-24. in acecordance with
the table given below.

22. I
HO@| I|AlC
HAONOLI®
OAllAMOT]
LAOOIC AL
OMm/.mAe®
AN @O
He ./ [ ICAO
| I,

L /
L
gl .
L= G= O

[ ve If, yukandaki tablonun faril biter pargasidir.
Buna gdre, Il dek! F ve X nin yerine\asafinakiierd
hangist gelmelidir?

1 and Il are different paris of tha flgurs above,
Accordingly, which of the foll g combinations

should replace F and Kin II7
S i

AT

B /A |

G
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||| Si®l 2@l |2

! va dl, yukandaki tablonun farkh birer pargasidir.

= Buna gbre, N deki ¥ ve Z nin yerine agagidakilerden

hangisi gelmelidir?

| and 1l are different parts of the figure ahove,
Accordingly, which of the following combinations

b should replace ¥ and Z in 117

lt il
[ O
B A L]
¢ O @
0} @ G
8 L] @



24,
Ne®L AC
WAOAOT®
COLA L] A OF |
Ne@ERN |
OHRME/\HA®
— e W
AC|N® . |CIA
e/ . [CAO
| Ii.
TIR| E[N
0 R[T
8, %
R=A.T=H Er?.NC?
,
> <
| ve ll, yukandaki tablonun farkl birer pargasidir. |
Buna gare, Il dekd E ve N nin yerpe agafidakllerden |
hangisi gelmelidir?
I and Il are different parfs of the figure abave. |
Accordingly, which of the following combinatians
should replace E and.blin {17
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25. / W

l. af\b=ab f( ’)

. (203)5K5=7 <

0 a¥b=(a+db

>

sk islemlerinin gdrevieri
L. egitlikto soru isaret-

hangisi gelmelidir ?

nin yering
In eguations |
established,

the folciing does
equation il

35 BJ36 ©3J7 D38 E)40

N .

/
7

leri birer rakamla gdsterilerek Il. gruptaki sayi-
Idr elde edilmiztir. Soru isaretiyle belirtilen ki-
menin hangt sayiyla gosterildigini bulunuz.

? ve 27. sorularda, |. gruptaki kilmelerin gakil-

In guestions 26 and 27, the numbers in group |l
stand for the sets of figures in group |, when each
figure has been coded with a specific numeral,
Find the numher which corresponds to the set of
the figures Indicated by the question mark,

.
1 [ 124 435 213

26,

L
I:[> e

.-"‘*.
L

542 314

|

e

A O=?

fond T
-

(PO
el

e [> >

[

Ay 124 B) 213
D) 542

C) 435
E) 314
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7. I. IL. 28, v ;
KET A ’ 2345 B425 5063 / j

CALN 4310 1563
mE K¢le
F UONAY |
A0 A

WALk =2

A) 3462 B)3642 C) 3624
D) 3264 E) 3426

28. - 30. sorular agafjidaki gekle gire ce.-vap-
layimiz. y

Answer questions 28 - 30 in accordance wi
the figure given befow.

Yukanda verilen gekle abre, K kagtir?
According to the figure above, what is the value of K?

A12 B4 16 D18 E)}20

Yukandaki ggkil @, b, ¢ ve d harflésiyle gdsterilen | 30,

dért pozitif tam | igeren bazriglemlere gére | @’0
dlzenlempigtir. Ha in gosterdidi sayilar her ;

soruda fqul olebilir fa bunlarla yaplacak ig- A A

lemler her soruda aymifir.

The figure ab has been
to varigus operathans using/four positive integers
represe d by thelefters; a,'b, ¢ and d. The integers

sented by the letters may r;hanga from quUBs ion K+L=?

estrcm operations to be done ramain the
sa % Yukarida verilen sekle gire, K+ L kagtir?

: Accordin’}g to tha figure above, what is the valus
| of K+ L7

N2 B3 Q4 D5 E)6

10
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31.

L ™

2

1. |

Hi

Yukarnidaki terazilerin iigii de dengede oldufjuna
gore, Il terazide soru igareti a$a§|dakiierdan\
hangisini géstermektedir?

All three scates above arc in balance. Accordingly,
which af the following does the question mark stand
for in the third scale? -

>
A aaa® EOOSA ()b
Djee E) @mm
>
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g A\ |

&

/
Yukaraaki teraziledn ligii de dengede oldufuna
gbire, Ili, terazide soru igfarati agafidakilerden
hangisinl gdstermektedir

"8, three scales abave are in balance. Accordingly,

whikh of the following does the question mark stand
for in the third scale?

A A® E) AAG®

D)eee

ClO®A
=3 1

11



Yukaridaki terazilerin (igll de dangede oldufuna
gire, . terazide soru L;rareti agadidakilerden
hangisini gostermektedi

which of the following does the question mark stand
far in the third scale?

All three scales above are in balance. Accordjrﬁ@, i

AlAAAAs BioO0®® \E]

D) A A Ema K
34,

Azatidakilerden hangisi-lstd acik
acilirmidrr,

E)
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soru ¥

37. - 40. sorutarda, veriten gekil matrisinde
retinin yerine hangi seklin getiriimesi
gerektiinl butunuz.gereken gekli bulunuz.

In gquestions 37. — 40, find the figure which the
gquestion mark stands for in the given flgure
matrix.

37.

4,

& !

A}
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x=2yp=—1
=
2+ y=3

| , -/' %
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Fix) =log, e

flxy=1
xl/" ; /

AYSfinS B)-5x €S D)-In§/ )5k
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52,
., x4 2xCosk
im—--="1
i 3 Siex Cosx
A-2 B)-1 Ci0 il )2



53,
_1,':{.[1 +]]5|ru:
¥ (0)=1
v, - VO | Dy
54,
flo=2c+1, glxp=x-2,
(foz™){2)=" 2
>
A3 BJIS ;

ainr

by yos lovers

E)2

55,

Lo

2013-50vOs

=2 br’ (Unit Square)

gﬁ}i’sf‘i Byllf4  Cy9/4  Dj2

56,
ICr;.i‘{r?}d!
lim® o =Y
F=pT, _'.‘_'
A2 Bi-| i Oyl
17
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57. 60.
Ml /F‘} 2y

i T o Xx-xSimCosx
JA.5in= Cos =1 | lim————r=7
4] i} ; al - NivCosy

Al BIW3/2 Cf2 D34 B4 A)-2 B2,

C)-2x

16+ 24810 +81 = 10

X

:I[l%(x: mx_}dx =7

Dy-15 E)5 Ay-4  BI-=2  CW D)2 Ep

18
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63.
F(x)='Cosx|
! E 9
4 [4] '
A-2/2 B-l2C0 D)2 E}2/2
64,
|imL1,'x)='3
PRETH _3‘" o
A)y—m
65,
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xi=1
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68.

ST Cos7"

="

S8y Cos9T

AN E)l -1 D2

69.

O mertkez
|0C | =S¢
|aC
|BC| = ?csr

0 merRezli gemberin

=S¢t
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48] - [Bc]
|4£] = |E8|
I20|= ||
|[AD] - 3|Ar]
|AC| =30
|EF| =

A5 Bi6 Cy7

CHa44
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T2
0,025a +0,08 =0,0154+0.07
a="7

Al BI-1 C)5 D)-5 R
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78, TEST BITTI, . / /w
¢ & .
J(x) = Cos( Sin(2x)) CEVAPLARINIZt KONTROL EDINIZ.
Flinfd)=1 END OF TEST. J\‘ <
i PLEASE CHECK YOUR ANS \/RQ
Ay-2  By-1 )0 B3] E)2! 4
i .
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